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Fx ENSEfashE: 1988 b

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 17,689
130100| W2 A ®s 5,850 0 5,150 10 1,296 540
13010072V A RI& 6,684 0 6,576 12 1,296 972
130340#ICA LA HE 11,440
130340 ICA LA S 3,220 0 3,070 10 2,160 1,188
130340#ICA LA Ri& 2,400 0 2,400| 10 1,944 1,188
130340 ICA LA BIR S 4,930 0 4,930 10 1,836 832
130400|Z1% 5 HE 1,334
13040021 5 Fix 1,130 0 1,120 10 3,564 1,566
130400|Z1% 5 I 100 0 100f 10 2,592
13040021 5 I 30 0 30 10 1,188
130500|7=1F o & B 363
130500(7 7> & SR 220 98 122 2 3,780 1,944 3,564 2,052
130500|7=1F o & ®5 80 0 80 2 4,104 3,240
130500(7 7> BERE 38 10 28 2 2,808 2,268 3,456 2,916
130600|1L A Z A HE 1,437
130600|1LA Z A ES 1,425 0 1,405 5 3,780 972
131100|H ¥ e 10,950
131100 B3 B3 10,065 0 9,990 15 1,944 810
131100|H % & 435 0 435 15 929
131100 B3 K& 450 0 450 15 1,836
131700|F + NV HE 35,390
131700|F v+ R E5 14,630 1,120| 12,220| 10 929 1,080 626
131700|F + NV & 17,260 0| 16,700 10 1,080 659




131700(F v~y FNERL 3,500 0 3,300 10 1,080 756
131800(Ix > NMAE ToE 3,201

131800]IF > A E B 25 0 25 0.2 130
131800(Ix > NAE 5B 572 441 131 0.2 91 43 79 76
131800]IF > A E wE 1,000 0 996 4 2,808 1,080
131800(Ix > NMAE =1 1,440 0 1,440 0.18 86 81
131910(Fh & ¥ 2,370

131910|F R & KER 19 0 19 0.5 702 302
131910(Fh & BE 63 0 61 0.5 324 265
131910|F R & i 1L 405 190 215 1 432 270 864 324
131910(Fh & &I 1,123 0 1,123 10 3,132 1,296
131910|F R & FIE 760 160 595 10 1,512 2,862 2,700
131950(BA & ¥ 3,162

131950|H A& SR 1,200 0 876 3 1,296 432
133400|L % & ¥ 24,775

133400 L % X B/ 7,935 0 7,925 10 2,052 648
133400|L % & BE 13,450 0 8,260 10 2,592 1,296
133400 L % X BE 2,050 0 1,650 10 2,376 1,080
133400|L % & Rl 1,340 0 1,100 10 1,944 540
134100 (#A K ToE 14,000

134100|8A/X wE 4,860 0 3,460 5 2,052 1,242
134100|8AM = A 710 0 390 5 1,728 1,382
134100|8A/X = 7,760 5,010 2,160 972
134200|F /I ¥ 570

134200|F /M Za-vY-7vF 570 0 570 10 3,996 3,564
134300(71F ToE 8,917

134300|50F wE 1,092 10 1,002 2 1,080 1,080 378
134300(71F AN 5,985 4,489 0.3 97 86
134300|50F & 1,090 924 0.3 135 119
134300(71F REAR 750 750 0.3 118




134400 b~ b 8,027

134400{ b~ 941 0 941 1 346 292
134400 b~ b 128 0 128 4 1,296 1,080
134400{ b~ 950 0 950 4 1,728 1,296
134400 b~ b 5,932 0 5,496 4 2,160 972
134500|'—~ >~ oy 6,211

134500 "=~ ~ = 1,197 0 1,161 0.15 140 86
134500|'—~ >~ = 15 4,919 0 4,605 0.13 113 97
135100 WA F A ¥ 280

135100| W A LT A = 30 30 2 3,888 3,240
135100 WA F A R 10 10 2

135200|%= 108

1352003 = 108 108 2 2,700 1,188
135300 &"— X 632

135300|— X 132 132 2 2,376 1,080
135300| =X 52 52 1 1,512 1,080
136100|HA L & 22,805

136100(AA L & b 5,705 4,590 5 2,376 432
136100|HA L & Ry 4,150 4,150 5 1,728 864
136100(AA L & = IR 950 950 5 1,512 648
136200|%inE ¥ 680

136200|F 5% time 680 680 10

136210( A =7 1 ~ ¥ 7,240

136210( X —7 1 > JuiBE 7,240 6,910 10 1,944 324
136300| 2% ¥ 2,510

136300|2F B 2,510 2,210 10 3,456 1,512
136600(7-xa & ¥ 9,355

136600|7z & time 5,520 5,520 20 2,484 2,225
136600(7-xa & & 3,535 3,635 10 2,808 1,296
136600|7z & RI& 200 200 10




138100|& L Wizl ¥ 2,335
138100(& L W /o lF =B 178 0 178 0.1 97 65
138100|& L Wizl wE 1,730 0 1,682 0.2 270 76
138500(L® LE ¥ 2,998
138500| L& LE K% 2,942 0 2,361 0.2 76 65
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LSS ST E 538 b
(B ILHEREST)
28 os e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
241260|HE AN A Eoe= 2,980
241260|HE AN A g 2,980 0 2,980 10 2,160 1,404
241320(/\#A Eoe= 530
241320|/\#8 L 530 0 530| 10 2,484 2,160
2414508 R Eoe= 9,420
241450(B R AL 9,420 0 5,650 10 3,780 1,080
2414817 2R Eoe= 10,018
2414817 aR > AL 3,002 2,294 5 2,700 756
2414817 2R &I 4,191 3,086 5 2,484 1,080
2414817 aR > g 1,900 270 5 3,780 2,592
2423201 aF 33— F [## 1,000
242320 a+a—iL K 55 1,000 0 1,000 10 3,780 2,376
242830(3 LW AT Eoe= 3,990
242830|.5%LC WA T 55 3,990 0 3,810 10 5,400 2,160
246000({\ 5B & Eoe= 21,800
24600016 & FLE 389 157 212| 0.25 454 238 454 378
246000({\ 5B & &I 847 0 528 0.3 518 410
246000|L B & & 4,715 0 4,020 0.27 562 162
246000({\ 5B & = 1,152 0 576| 0.24 400 216
246000|L B & K& 6,408 0 6,022 0.25 432 184
246000({\ 5B & REAS 7,594 0 4,514 0.25 400 216
246000|L B & = I 695 0 635 0.25 356 270
247100| 7 — 2 x Ay ¥ 179
247100| 7 — LR A A YV B4 119 17 85 8.5 18,360 21,600 15,120




247100|7—vx 48> | &% 60 9 51 8.5 8,424 15,120 6,480
248300|FTH# 9" L v ¥ 3,885
248300|FTH9 L REA 3,885 0 3,270 15 8,100 2,484




